
Answer key of project 1 units 5 to 6 
 

 

A: 

1:is                                           2:less expensive                   3:busier              4:are 

B: 

1:T                              2:F                         3:T                         4:F 

C: 

1:beach                   2:foggy                         3:movie                       4:thriller                  5:entertainment 

D: 

1:cliff                       2:like                      3:film                4:comedy                  5:wide 

E: 

1:quitter                          2:the nicest                       3:get                     4:boring                      5:got to go 

F: 

1:colder today than             2:the cheapest              3:travel             4:suprising                5:doesn’t  have to 

G: 

1:3                                2:3                        3:1                     4:2                      5:1 

H: 

 

 

I: 

1:T               2:F              3:F              4:F 

 

 

J: 

1:roman       2:boats           3:share a tech      4:eating             5:advanced 

 


